Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)
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Fit Width vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)
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Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)
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Fit Width vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)
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Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)
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Fit Width vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)
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2y fit mean vs. lteration 2y fit sigma vs. Iteration 2y fit sigma over mean vs. lteration
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o/p vs. Iteration (E1, E2 > 500 MeV) o/p vs. lteration (E1, E2 > 700 MeV)
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3Mass Spectum for final iteration (E1

E2 > 500 MeV)
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3Mass Spectum for final iteration (E1

E2 > 900 MeV)

x10 Entries 1.093567e+07
o X2 I ndf 3817/165
o Prob 0
C Ei - + 0, pO 1.139e+05
__Flt o/p =5.107 £0.014 % pl 0.1362
o p2 0.006956
r p3 3.622e+04
- p4 0.01418
- p5 -1.315e+06
F p6 4.455e+05
- p7 -1.74e+04
E ]
e ner PR R EPRE PR SRR R
0.06 0.08 0.1 0.12 0.14 0.16 0.18 0.2

m(2y) [GeV]

400
350
300
250
200
150
100

50

70000
60000
50000
40000
30000
20000
10000

3Mass Spectum for final iteration (E1, E2 > 700 MeV)
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Mass Spectum for final iteration (E1, E2 > 1100 MeV)
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Current iteration (Blue), last iteration (Green), and current ccdb constants (Red)
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